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Which one ol the follow
sexually ransmitied
curable when

properhy?

C hoose th
COphons

| ng common
discases is completely
detected cdl‘l_\ and ll‘L‘&llC;l

\“ Qennal h;1|\\" () Gonorrhoeg
S Hepatns-B ) HIV Infection
Mateh List 1 with List 1.

List 1 List 11

tft‘}\ I Kidnev

B GIp 1. Heart
CoAN] [, Gastric gland
l? \DH IV. Pancreas

( \huosc the correct answer from the optiong
given below: '

(D AV BTN C-IL D-1

(23 AL B-IL C-IV, DA

(3) A-LL B-IV. C-1. D-11I

(4) AV B-IL C-TIL DA

Given below are two statements:
Statement I: Low temperature preserves the
enzyme in a temporarily inactive state
whereas high temperature destroys enzymatic
activity because proteing’are denatured by
heat.
Statement 1I: When the inhibitor closely
resembles the substrate in its molecular
structure and inhibits the activity of the
enzyme. itis known as competitive inhibitor.
In the light of the above statements, choose
the correct answer from the options given
below:
(1) Both Statement I and Statement 11
are lrue.
Both Statement 1 and Statement I
are false,
Statement | is true but Statement 11
is false.
(4) Statement I is false but Statement I1
is true.
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Chiven below are two statements,

Statement [ A profenn is imagined 4 , line
the e ond represented by frst amigg
(Ctermimal) and the night end rcprg:v;u,}té(]
by last amino acid (N-terminal)
Statement 1: Adult human hacmoglnhm
consists of 4 subunits (two subunits of ("
(ype and two subunits of B type.)

In the light of the above statements, choq,
the correct answer from the options Livey
below:

(1) Both Statement 1 and Statement ||
are true.

Both Statement I and Statement ||
are false.

Statement I is true but Statement [j
is false.

Statement I is false but Statement ||
is true.

S

Radial symmetry is NOT found in adults of
phylum

(1) Ctenophora
(3) Coelenterata

(2) Hemichordata
(4) Echinodermata

Which one of the following techniques does

not serve the purpose of early diagnosis of

a disease for its early treatment?

Recombinant DNA Technology

Serum and Urine analysis

) Polymerase Chain Reaction (PCR)
technique

Enzyme Linked Immuno-Sorbent Assay
(ELISA) technique

Once the undigested and unabsorbed
substances enter the caecum, their backflow
is prevented by-

% Sphincter of Oddi

(2) Tleo - caccal valve

(3) Gastro - oesophageal sphincter

(4) Pyloric sphincter
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Choose the most “m‘“'l‘l'lnlu answer
(he aptions piven below swer from

i oand D only

(N

N \, Cand I only
N \ and D only
(4 \. Dand b only

|70 proad palm with single palm crease is visibl
! R asc 1s visible
i a person cullering from-

o) Down's syndrome
(| urner’s syndrome
K linefelter’s syndrome

-

(3
)] [halassemia

below are statements: one is labelled

180 Given
and the other is labelled as

as Assertion A
Reason R.
n A: Nephrons ar
edullary, pased on their
d medulla.

Assertio
Cortical & Juxtam
relative position in cortex an
wry nephrons have

Juxta medulle
cortical

Henle whereas,
er loop of Henle.

atements, choose
given

Reason R:
short loop of
nephrons have long
above st

In the light of the
om the options

the correct answer 1
helow:
(n Both A
correct cxplanution of A
Both A and R arc (rue but R i
the correct explanation of A
(3) A is true put R is falsc.
jse but R is true.

and R are {rue and R is the
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A Ripgwerm ) Haem?! o
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bt rofl!

(' Malana

. Pacumontit
(‘hoose the correct |
piven below:

(¥ A-1L B-11l. -
2y A-lL B, €L N-1V
(R))] A-IlL B-1l -l -1V

(4 A-l1L B-1L C-1V. D-1

(v, D

llowing js not & cloning

182 Which of the fo
vector?
H BAC
(R)] pBR322

(2) YAC
) probe

one 1>

ments:

¢ (WO state
d the other 1%

183 Given below ar
Jabelled as Assertion A an

labelled as Reason R.
L s necessany for

implzmlminn 0
Reason R: In the absence of fertilization
the corpus Juteum degenerales (hat causes

i f endometrium:

disintegration 0
In the light of the above statements. choose
gwer from the options given

the correct ans

below:

1)) Both A and R arc L
correct cxph\nation of A.

and R are true
jon of A.

rue and R is the

¥ Both A
the correct explanal

but R is false.
but R is (ruc.

(3) A is true
@ A is false
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Statement 10 Iy prokanotes, the posttinely
changed DN A held wath wme nevatin el
chaneed proteins i a repion calied nucleond
Statement 1 In cukarvotes, the nepatinely

haroe ‘ ‘
charped DN g wrapped around the
positively chaneed histone octamer o torm
Hll\'l\‘t‘\\q“\‘
Myer N N
In the bt of the above statements. choose
the correet answer fpowm the ophions gnen
h\'}\‘\\
™ ~ e
Both Statement 1 and Statement 11

ane true

(21 Both Statement 1 and Statement 11
are false

(30 Statement 1 s correct but
., ¥ ‘ ““\
Statement 11 s false

(4} Statement | incorrect but Statement 11

I8 rue

IS5 Mawch List I with List IL

List 1 List 11

(Interacting _ (Name of

species) . uio Interaction)
A Aleopardand a .. Competition

Lion in a forest N L

grassland

B. A Cuckoo laving AL Brood
egginaCrow’snest . parasitism
L Fungiandrootofa -HE Mutualism
higher plant in )
Mycorrtizae
D. Acattleegretand -+ IV, Commensalism
aCattleina field
(hoose the correct answer from the options
given below:
™ A-l B-1L C-lII. D-IV
(2) A-L B-IL C-IV. D-1l1
(3) A-lIL B-IV, C-L DI
(4) A-IL. B-11l. C-1. D-IV
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Joolopy - Section-B Q. Noo 186 200,

W the tollowme are NO
W hich of the | “"\lt‘r ”I
contral of therord hormaone” :

v Mamntenance of water and "l‘-‘&"rni\
halanee Me

1’ Repulaton ol hasal metaholje Fale

¢ Normal thythm ol sleep-wake eycle

1 Development ol immune \_\-SICH;

I Support the process of RB.C formag,

Choose the correet answer from the ('P“Uﬁt

oiven below

() A and D only

() B and C only

(3) Cand D only

(H D and I only

In cockroach, excretion is brought aboy by.
A. Phallic gland B.  Urecose glang

(. Nephroeytes  D. Fat body

. Collaterial glands

Choose the correet answer from the options
given below:

(1) A and E only

(2) A.Band E only

(3) B. C and D only

(4) B and D only

Match List I with List II.

List1 List II
A. Mast cells I Ciliated epithelium
B. Innersurface II.  Areolar

of bronchiole connective tissue
C. Blood 11I.  Cuboidal epithelium
D. Tubularparts IV, specialised

of nephron connective tissue

Choose the correct answer from the options
give below:

(1) A-L B-IL. C-1V, D-IIl

(2) A-ll, B-lIL C-I, D-IV

(3) A-Il. B-I. C-1V, D-III

(4) A-lIL B-1V. C-I1, D-1
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Ihe unigue Mammalian
(1 hairs,

haractenistics are
BNmpanie
mammany plands

membrane  and

[
)
4

hairs, pinna and mammary glands

hairs a3 Y
IS pinaand indirect development

monocondvlic  skull
mammary glands

pinna,
and

Select the correct stateme

10 chordates.

nts with reference

A, Presence of . . i
Presence of g mid-dorsal, solid and

double nerve cord.

DR Cergy v . :
B.  Presence of closed circulatory system.
N D a4 4N ¥ : |
C. Presence of paired pharyngeal gillslits,
D, Presence of dorsal heart

E. Triploblastic pseudocoelomate animals.
(ilmosc the correct answer from the options
aiven below:

(1 A, C and D only

(2) B and C only

(3) B. D and E only

(4) C. D and E only

Select the correct statements.

A. Tetrad formation is seen during
Leptotene.

B. During Anaphase, the centromeres split

and chromatids separate.

C. Terminalization takes place during

Pachytene.

Nucleolus, Golgi complex and ER are

reformed during ‘Telophase.

I:. Crossing over takes place between sister

ol homologous

D.

chromatids
chromosome.
Choose the correct answer from the options
given below:
(1) A and C only
(2) B and D only
(3) A. Cand IZ only
(4) B and I only
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dps
The parts of human briam that hely
expression

repulation of sexual behaviour,
. l‘n‘

of excitement. pleasure, rage. fear ¢l
(1) Limbic system & hypothalamus
(2) Corpora quadrigeming & hippocamptis
(3) Brain stem & cpithalamus

(4) Corpus callosum and thalamus

Given below are two statements:
Statement L: During G, phase of cell cyele,
the cell is metabolically inactive.
Statement I1: The centrosome undergoces
duplication during S phase of interphasc.

In the light of the above statements. choose
the most appropriate answer from the
options given below:

(1) Both Statement 1 and Statement 11
are correct,

(2) Both Statement I and Statement 11
are incorrect.

(3) Statement 1 is correct but
Statement II is incorrect.

(4) Statement 1 is incorrect but

Statement I1 is correct.

Which one of the following is the sequence
on corresponding coding strand. if" the
sequence on mRNA formed is as follows
5" AUCGAUCGAUCGAUCGALICG
AUCG AUCG 377

(1 5 UAGCUAGCUAGCUAGCUA
GCUAGC UAGC ¥

3 UAGCUAGCUAGCUAGCUA
GCUAGCUAGC §°

5° ATCGATCGATCGATCGATCG
ATCGATCG ¥

3 ATCGATCGATCGATCGATUG
ATCGATCG >

(2)

(4)
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